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A bearing company rates its ball bearings for 1 million revolutions. 
For 90% reliability, a desired life of 5000 hours at 1725 rev per min, 
and a load of 400 lbf, compute the catalog rating
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Weibull distribution
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The design load on a ball bearing is 413 lbf. The speed of the shaft is specified 
as 300 rev/min, the expected life is 30 kilo hours at a reliability of 0.99. 
Compute C10 catalog entry on the basis of 10^6 revolutions of rating life. The 
Weibull parameters are x0 = 0.02, (theta-x0) = 4.439 and b = 1.483
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Combined loads
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An angular contact ball bearing has an axial load Fa of 400 lbf and a radial load of 500 lbf 
applied with the outer ring stationary. The basic static load rating C0 is 4450 lbf and the 
basic load rating C10 is 7900 lbf. Estimate the L10 life (in hours) at a speed of 720 rev/min
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